
Way Cool Algebra Linear Inequalities Graphs – Inequality 
 

 A) Test a point in the original inequality.  B) Identify the Y-Intercept and the Slope.  C) Graph each linear inequality. 

1) 

4−x
 

2) 

5x
 

3) 

1−y
 

4) 

23 −−x  
 

5) 

56 +y
 

6) 

246 y
 

7) 

93 + yx
 

 

8) 

14 −+ xy
 

9) 

8−+ yx
 

10) 

102 −+ yx
 

 

11) 

126 + yx
 

12) 

2434 + yx
 

13) 

62 − yx
 

 

14) 

11+− xy
 

15) 

3−− yx
 

16) 

15−+ yx
 

17) 

0− yx
 

18) 

94 + yx
 

19) 

162 − yx
 

20) 

936 + yx
 

21) 

624 −− yx
 

Copyright 2000 – 2024 © Way Cool Algebra 

 
 


